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(BT = A" 9L /kg)

=1 — = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (1g) | toh134 (by9h134) 994137 (b994137)
iEES ARF+ B LmE ALET\LA]| 295 (OK) | A& 9.0 | A1%&H 8.0
EES ARF+ = 14H(CN) [ A& 5.2 | A& 4.3
e EGES FrRY 8L Z A5 T 14H(N) [ A& 7.1 ~%H 5.8
EES HYNTE 8L Z A5 T THOK)] A i&HE 8.2 | ~%&H 7.2
5 |B HIYVALE BT X H 10H ()| A%&HE 8.8 | A& 7.1
6 |FE Yh1E 8L AT 17H(®)| ~&d 8.8 | A1&H 7.2
[EES HhA1E LRI =0]H | 6H(B)|[ A&dE 8.7 | A& 7.0
8 |Bx Yh1E ag|llm THON)| A& 5.9 [ A%&H 4.9
9 |[FK Jv A E WhEmh 14H(N) | A& 7.3 | A& 6.8
IEES Jv A1 E BRI EEAN THOK)] AigHE 5.0 | A& 4.3
(EES v A1 E = 5H(H)] Ai&E 8.0 | A& 6.5
(REES ERt=Vi B Lh %50 2Q1HCR) [ A& 4.9 | A &H 4.1
(EEES ERt=Vi MUmZEIHEL | 6H(B)] R~i&d 5.8 | A& 4.8
(EES ERt=Vi BUmZEEITHELL [ 135(8)] A i&E 4.6 | A&H 3.8
15 |82 43 8L iR ET 10H(£)| A% 4.5 | A&EH 3.9
AEES ERt=V L I 6H(B)| Ai&E 6.6 | A~&H 5.4
EES ERt=V EB1 LI FE BT 13H(B)|] A #&E 4.8 | A &H 4.0
18 [Fx ERt=Vi BUBBEMEINATE| 7THCN)| ~E@E 6.1 | ~&H 5.2
[EEES 43 ELmE A ILET\LIA]| 29H (OK) | A 1&H 8.6 | A&H 7.1
20 [ ERt=V HA™ 17H(&)| ~&H 6.0 | ~&H 5.1
IEES ERt=V N N 14H(N) | A& 6.6 | ~1&H 5.5
YR EES Y143V () |ZFWmm 14H(N) | A& 7.0 | A& 6.0
23 [FE FOFUY4  |HNM 16H(K)| A~ i&E 9.3 | A %&H 7.8
YA EES JILLSYF £ 1L BEF0 1HOK) | A& 5.1 [ A%H 4.3
AEES FTHAE BRI THEEAN THOK)] A igHE 8.1 | ~#&H 6.7
26 [FF EXF 8L Lh = FHET 3H(®)| ~&d 5.3 | A %&H 4.6
YIREES F X B hZ 150 14H(N) [ A &HE 13.7 | *%E 10.7
IEES —IYy L /I 6H(B)| A&E 8.2 | A& 6.4
29 [FFE —IY B LT FAEHBIRAER [ 14H (N AMEH 5.4 | A &H 4.6
30 [FE NTTA 8L ZHE ] 14H(N) [ A &HE 4.9 | A &H 4.6
31 [FE NTTA BLUFZEIHEL | 6H(B)|] &L 6.6 | ~&H 6.2
32 [FE NTTA EBLL T PR T 13H(B)| ~&H 5.1 | A %&H 4.2
33 [HE NTTA 8L L PR EHET 4 6H(A)| ~&d 8.6 | A& 7.3
3k [FE NTTA BT ZEARET 208(B)] ~%HE 7.3 | A~%&H 6.4
35 [FE NTTA BT ZEARET 208(B)] ~%HE 8.9 | A& 7.7
36 [FE NTTA HA™ 16H(K)| A i&E 4.6 | A&HE 3.9
37 [FE NTTA HA™ 17H(&)| < &H 6.8 | ~&H 5.9
38 [FE NP RDD BLUAEMEITNATE|] 7B R@H 6.8 | ~&H 6.3
39 [FE FE—<v B hZ 150 14H(N) [ A &HE 10.8 | A~&H 8.3
40 [ J0OvaU—  [BlmZEREEHELL [ 1388B)] A%E 6.8 | ~&H 5.8
L1 |k GiPk. B=kZ) [BIK AR A 21H(B)| A&H 4.1 | A1ad 3.6
L2 (I -E0CFE|(0UST EEIIE ST 10H(2)] A~ &E 11.1 79.1 9.4
43 (I - FQFE[IXD HA™ 108 (£) 10.9 7.1 81.0 4.9
4 [IIZE - EOCHE [OI XY TEBAEN 8HOK)| A& 9.9 81.5 8.1
45 [IIE - = |[F X3 EZAM 8HOK)| A~ igH 7.7 | ~%&H 6.7
TENERERRM A ELS SEEINT 6H(B)|] ~&E 10.7 | ~&HE 8.7
NENERER M AV ELS E 2D 6H(B)|] ~&E 13.4 | ~&HE 11.0
48 (I - EQHE LTI XY B =FaHE 3H(R)] A~ &HE 11.8 | A~ &HE 9.8
49 [ENza = 8L 13H(B)] A~ &HE 4.2 5.3 3.7
50 [RE hF SEMA 21H(B)| A& 6.0 | ~&H 5.0
51 [&E= hF L hZ 150 10H ()| ~&H 4.9 | A &H 4.1
52 |RE hF BLhZEiE R THON)] A~ &HE 9.8 | A~%&H 8.8
53 [R=E hF 8L T EE T 9H(K)| A~ &H 6.3 | ~%&H 5.2
5, [R=E hF BT ERAR THON)] A~ &HE 6.5 22.1 5.8
5 [R=E hF I =E=:] 8HOK)| A~ igH 7.4 | ~&HE 6.2
56 |[R=E hF LI AT 5H(H)] A~ &E 7.9 | A~%&H 6.3
57 |RE hF B LI EHAT T 13H(8)| A&H 6.9 | ~&H 5.5
58 [R=E hF ESLLTHFAHBI =8]8 | 8HOK)|[ At&HE 8.2 | A~%&H 6.9
59 [R=E hF BLHHE 10H(&)| ~&H 3.9 | A~ %&HE 3.3
60 [R=E hF LR 6H(H)| A~i&H 4.5 12.0 3.3
61 [BE hF ELLTER 21H(B)| A& 3.9 | A~ %&HE 3.3
62 |[R=E AES EBUmEALBAEH]| 8HOK)| A1&EH 12.1 A& 10.7
63 |[R=E AES EBLUmEXAILETZEE| 16H(K)| A&H 3.9 | A~ &H 3.5
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=5 - - - BED | .. BEERE . BEEAE
== | H7IY @ E PRER: 18 | P34 1 wannzs) | BOMST | hsnt3r)
TR EES i MF=Rms | B0 TRE 6.1 | TBE 5.7
FEES ¥ B THOR| TR, 5.1 | FRE P
TEES ¥ R B AREET THOR| TR, 5.3 R 5.4
67 [B=E h+ A= EIE S 5.6 | &R 4.8
68 |[FE=E HUY BLUmZEEEAR| 106(®)] fad 6.7 | ~EH 5.4
EREES HTS B A TE(D)| TR, 5.5 | L ™
EES HTS A EENAE B38| RE 8.5 | 7~ RE 5.9
EEES ¥ BT ZTRE 2EK| FRE 6.3 |~ RE 5.3
FAEES e MInEREnEE (21000 FRE Lh | T RE 3.6
EREES e ] BER)| FRE L6 | T RE 36
EES e B REEE =0 E | 68(5)] B, 5.8 | L 59
EEES e MO 30800 FRE 5.0 | T RE 3.3
EES e AN 208(B)| FRE 5.4 | FRE 5]
A EES FI1 BET 2TH(B)| AB’H 7.4 | F<@H 6.1
EREES T50 BB\ LT 7S EET THOK | TR, L5 | T RE 3.6
EREES T BT ZTRE ZIHON) | FRE 73 FRE 5.9
EES S MImEEnAE 1389 RE 8.2 | ~RE 3.0
EES S AN ZTH(R)| FRE 13| T RE 3.7
FREES 73 MIBEALE 2800 FRE 5.5 | R 5.3
83 [B= 2= B8l 29H0K)| ABH 10.8 | ~&H 9.5
TRREL IS FhE AR 608 TRE, 5.9 | FRE 5]
85 [Zoftk ING BLmEALERE | 145N | AEE 6.5 | ~@H 5.5
%6 [Zof e TLHE LI ALE| 80 (0| FRE 8.0 | FRE 6.0
87 [Z0f ZR L] OO 6.3 52 72.1 3.9
88 [Z0f R eS L] BEO| 7.2 P8 512 3.5
89 [Zoftk i 8L HiIR FHT 105 &) ~8E 6.3 | ~BH 5.4
90 [Zoft H¥ (GEHE) [EBLLMZIEH] 1BHB)| ~8E 5.8 | ~&H 4.9
9T [Z0fE B2 BUTERE 2808 16.2 55 138.7 5
07 (Zof = MG ONEE [0 TBE 7.0 | FRE 9.5
03 (Zof o MG EEE 3080 FRE 5.2 | R b
9% [Zoft Eg A= 9B (K)| A& 10.4 | ~&H 8.4
95 [Zoftk EEE ILhmEE 21IHCN)| A& 6.8 | ~&H 5.6
9% [Zofth = ERLTPAHEBTRMER | 22H0K)| F~&H 5.9 | &R 4.9
7 [Z0f = TLhE LB \LE| 800 TRE, 8.2 | FRE 7.0
%8 [Z0f el THE ALE/\LE| 98000 | TRE, 5.9 | FRE 4.9
9 [Zoftk Fth ELLITT FHAET 168 (K)| A&H 8.3 | @ H 6.7
100 |20 % T EmE 28H 00| FRE 60 18.3 ™
101 [H29FEEXK XK (KXK) A= 15SHOK)| ~BH L6 | ~BE 3.7
102 |H29FEEXK X (BX) WHEM 148 (N)| R &H 5.3 | A&H 4.3
EMRET S(=E3) B RO EEAE| 100(2)| TR, 5.7 | FRE 4.8
104 [H29FEEXK X (BXK) L E A LLHET 21IH(N)| A& 49| ~@H 3.3
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